SEROA computation
1) make gaussian output, freq=roa

2) get geometry by gg
3) get tensors by gar9
( ordinary ROA:)
a) new1

b) new2

c) new4

d) new6 -> ROA.TAB
e) tabprnf (S.PRN

(SEROA:)

a) SEROA.OPT

2                              
“ number of molecules”

ball.x


first mol, coordinates
../FILE.X 

second mol, coordinates
ball.ttt 


first mol, tensor derivatives
../FILE.TTT

second mo, tensor derivatives
ball.pol.ttt 

first mol, el polarizability
../POL.TTT

ball.gp.ttt 

first mol, G’ polarizability
../GP.TTT

ball.a.ttt 

first mol, A polarizability
../A.TTT
AVERAGE

rotate molecule

t

TOL


accuracy threshold

tol [0.01]
DEBUG

t

GDER

t


use G’ tensors, otherwise zero it out

ADER

t


use A tensors, otherwise zero it out
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